3.1b Rectangular Coordinates March 30, 2011

MATH 1010 ~ Intermediate Algebra Chapter 3: GRAPHS AND FUNCTIONS
Section 3.1: The Rectangular Coordinate System

Objectives:

#% Plot points on a rectangular coordinate system.

% Determine whether an ordered pair is a solution of an equation.

% Use the Distance Formula to find the distance between two points.
# Use the Midpoint Formula to find the midpoint of a segment.
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Rectangular Coordinate System
(Cartesian Coordinate System)

Yfrs origin
ol feat (0,0)
Q'L x-axis hovient{
Y79, ,
%%0,979 970 y-axis verkeaL
Quadrants
X-anag
3 LI Ordered pair
X<0 Yy<Q >0 y<R
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. . Plot these points and tell what quadrant
PIOttlng p0|nts they are in:
A (-2,1) H=-2 = |
J
B (4,0) ‘1'
C (3,-5)
A D (0,-4)




3.1b Rectangular Coordinates March 30, 2011

ldentify the coordinates of these points.
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variables)

4

Graph an equation. (i

y=-2x+3
X 1% Undependent variable
‘3 is dependont vaviable

X y=-2x+3

O ‘a=-2(o)"'3"3
[ [~w)¥3=
- [-2-D¥3=¢ ‘

................................... ¥ TN, WY SO T
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@ EXAMPLE
Check to see if each ordered pair is a solution of the
equation.

y>- 4x = 8

a. (06) (-Y(0)=3(-0°3L #8 NO
b. (1-2) (AJ-4EN=4+¢4=% Vv RS
C- (1.3)  3%¢()= q44=1348 N°
I O S S o
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Distance between two points Pah‘r-.-un
: b,, N5 Theor enn

o)

d= Oax) o “)1

\ 0’ = \)-(’Q'X,)‘-L (y!_a' )2

v x . -
2 distanc bohwen (1, 4) and (3,-2)

dJE-3) 4 (g
) O

=1k +36
' ‘J\‘I(B) <y iz =2
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Midpoint of a segment

-1 =2
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@ EXAMPLE
Y9 My

Find the distance between these two points: (0,-5) and (2,-8).

L . A: 3
(o,-S\ 42_ 2 2 d= \ﬂ‘g‘

Find the midpoint of the segment above.

D+2 -S4-% -
5 ) +z > 1(': %}
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® EXAMPLE At = [ v ) +( Yo 3\)‘
Show that these points are the vertices of a right triangle.
A(0.9) B(94) C(22) (ase P 'a%nzd'mtv\
A A Thom)

Duzskion
JEyaT - 4+49=I3
(=) (r)@ AT
g3, cal L 2(63) B0 {(o-q) F(447
2(;3) 263) \y(-c‘ 4

wie | S i

-> s ds a VcaH ‘\naua&.




